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AR EB UMK AT B2 M 2021 £ 3 B 24 BFF4A%] 2021 £ 3 B 26 B4
R, FEULEAEIE T YouSwap B #E S ARBAI L £ MMMSE TR LR
AIREGHRIE

KRB EANREHITAEE, NESIIBENAR, FEERKTEEI
MFBERHAR, FMEEEARRSENENRBEENE TNAR, Ska
L) RESIEINFNAY pool. FEVTNREARIR, WAIIMNBENERE), AEEFHE
EE5RSHLE.

XA, MECIFIREMNEEREANE L RRE (WBLETR) #1737
EHMNAT, RNV SZEEAHTHIT, RAAFEEXZENEMRZE
REEIR, MW EAGEITEH ED.

BT AR R R IR Tt T, TR AR &N, WidEE
B S5EXEAANSETER, FERERERANEL THTHEMLIRE, XA
BN TR E T ERRE, BT E b,

AR SER ¢
AR :
15t A
AW A -
%H i

= E Youswap

YouSwapF  https://ropsten.etherscan.io/address/0x2794bF9

actory 82476C95755604bad8Bf7280f53f71786#code
&bt

Repurchase = https://ropsten.etherscan.io/address/Oxcc9BbCa
B68c22CfCb5cCf1C461138aD4C79f0cD3#cod
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YouSwapR  https://ropsten.etherscan.io/address/Ox121E617

outer 4575F776c9A58a92F475b8c1a77eF63DB#cod
e
Rumeal AR BE & AR
REES Solidity
BHAXHRBE
CEab A MD5
Repurchase. sol FOE13EE37ED279D27066E2B0693BO6A9
IERC20. sol COB512FC8612A4A480AEEACBLFDD89DD
IYouSwapCal | ee. sol 6D323A9D289D0C7DD213D7D77807A965
| YouSwapERC20. sol C7AE5CFE6COE6A90D467A15BBIE9ABCA
| YouSwapFactory. sol CD95507B6C2EEF2433C93AB7C2378A4F
IYouSwapPair. sol 614E14D8F21E2CFIFB94BCE92526F206
MathV1. sol 683C9332744A5B7400B22F5606FE1DOA
UQ112x112. sol AQE748B2299564A1FAA22BE501135F2D
YouSwapERC20. sol ABBA582C125C11FD5C5A53A40319D96B
YouSwapFactory. sol 44C25F80F444CAB8B5A192FDIF156DA13
YouSwapPair.sol 9C4C56C05CO9AED821EBCIBBAB59CCE3

YouSwapRouter. sol 8A63C64773DFIF784FBFAD6268858F24
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2.1 "REFERDTH
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2.2 TSR E AR

YouSwap %7f

ERLIH RS

Caller B a2 %t Bt ZHN, FEEZREEE.
EARKBERT &t ZHN, FEEZREEE.
Bl R 5B ARt @it ZHN, FEEZREEE.
Ll 5B HER T Bt ZHN, FEEZREEE.
S&e
R HAKBERIT @it ZHN, FEEZREEE.
Mint & ¥OBH#% T &t ZHN, FEEZREEE.
Burn & $0B %t @it ZHN, FEEZREEE.
Swap %= BRI Bt ZHN, FEEZREEE.
FERIRARE &g ZHN, FEEZREEE.
TRAEG B Z4N, R FEEIZLEE.
REHBENER B Z4N, R FEIZLEB.
THRENRDAR B Z4N, R FEIZLEB.
require/assert &R Bt ZHN, FEEZREEE.
fallback H#RE &g ZHN, FEEZREEE.
tx. orgin SHRIE Bt ZHN, FEEZREEE.
owner BRI H &g ZHN, FEEZREEE.
FIIZE | gas WA Bt SRV, FHEEZZLEE.
call SEABH &g ZHN, FEEZREEE.
REBHRE &g ZHN, FEEZREEE.
R R T IRRE &g ZHN, FEEZREEE.
VhiE I ERpEAS B Z4N, R FEEIZLEE.
ERAERS AT &g ZHN, FEEZREEE.
HEREERE i ZIN, AHEEZREO/A,
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IR BB EE T it 2180, FEEZTER-,
RRemEAER B 210, THFEEZRERM.
TEEE ®it 2180, FEEZTER-,
RN FiETEET Bt Z4N, R FEIZLEB.
iR E{EE A RIE it 2180, FEEZLTER-,
32 55 I P 4kt it 2180, FEEZTER-,
Bef ) B A o it 2180, FEEZTER-,
HELEARE BT Bt Z4N, R FEEIZLEE.
RFEERE @it 2180, FEEZTER-,
BEABEE @it Z4N, R FEIZLEE.
2085 & g R | @it Z4N, R FEEIZLEE.
EHTEE N @it Z4N, R FEIZLEB.
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3. WM

3.1 Caller &M ZEi1Z 3B & [1F1 )

xf caller FYIBMMEZERITHITHIT, REZEGAXNSEATRE. RE
HHENRRE. MERXEERITREEEHE.

HITER : HXEHERITAETIR.

function addCaller(address newCaller) public onlyOwner returns (bool) {
require(_newCaller != address(0), "NewCaller is the zero address");

return EnumerableSet.add(_caller, newCaller);

function delCaller(address _delCaller) public onlyOwner returns (bool) {
require(_delCaller != address(0),."DelCaller is the zero address");

return EnumerableSet.remove(_caller, »delCaller);

function getCallerLength() public view returns (uint256) {

return EnumerableSet.length(_caller);

function isCaller(address _call) public view returns (bool) {

return: EnumerableSet.contains(_caller, _call);

function getCaller(uint256 _index) public view returns (address){
require(_index <= getCallerLength() - 1, "index out of bounds");

return EnumerableSet.at(_caller, _index);




S sniEglF YouSwap A & 218 TR
3.2 RREFEE LT [ET)
M EARFBEIITHTHEIT, RERSAENSEHTRE. REAREN

RS, MEBEXEHRITEERIE.

HITER : HXEHERITAETIR.

function setEmergencyAddress(address newAddress) public onlyOwner {

require(_newAddress != address(0), "Is zero address");
emergencyAddress = newAddress;

h

function emergencyWithdraw(address _token) public onlyOwner {
require(IERC20(_token).balanceOf(address(this)) >0, "Insufficient contract balance");
IERC20(_token).transfer(emergencyAddress,

IERC20(_token).balanceOf(address(this)));

}
REEW : I,

3.3 EsHBLZ AT [Hid)
EMERE BRI HI, RERTANSHHTRE . BEARER

R, MEBARZERITEEEHE.

HITER : HXZERITRELIR,

function swap() external onlyCaller returns (uint256 amountOut){

require(IERC20(USDT).balanceOf(address(this)) >= amountln, "Insufficient contract

balance");

(uint256 reserve0, uint256 reservel,) = [YouSwapPair(YOU USDT).getReserves();

uint256 amountInWithFee = amountIn.mul(997);

amountOut = amountIn.mul(997).mul(reserve0) /

reservel.mul(1000).add(amountInWithFee);

_safeTransfer(USDT, YOU_USDT, amountln);
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I'YouSwapPair(YOU_USDT).swap(amountOut, 0, destroyAddress, new bytes(0));

REBEW : I,

3.4 BB SIEEEIT [EHi]

N EERZ ZINBERITHITEIT, REREENSHHTRE . REUAZE
RS, UMEBAXEERITREEEE.

HITER : HXEHERITAETIR.

function createPair(address tokenA, address tokenB) external returns (address pair) {

require(tokenA != tokenB, 'YouSwap: IDENTICAL ADDRESSES");

(address tokenO, address tokenl) = tokenA < tokenB.? (tokenA, tokenB) : (tokenB,
tokenA);

require(token0 != address(0), 'YouSwap: ZERO ADDRESS');

require(getPair[token(][token1] == address(0), 'YouSwap: PAIR EXISTS"); // single
check is sufficient

bytes memory bytecode = type(YouSwapPair).creationCode;

bytes32 salt = keccak256(abi.encodePacked(token0, tokenl));

assembly {

pair := create2(0, add(bytecode, 32), mload(bytecode), salt)

i

IYouSwapPair(pair).initialize(token0, token1);

getPair[token0][token1] = pair;

getPair[token1][token0] = pair; // populate mapping in the reverse direction

allPairs.push(pair);

emit PairCreated(token0, token1, pair, allPairs.length);
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3.5 XS HEXIZE G [Eid]
N ZEHEXEZFERITHITHEIT, RERREXNSEMHTRE. REEARE

RIS . MERMEXZEZITEEEE.
WITER : HREERITEELIR.

function setFeeTo(address _feeTo) external {

require(msg.sender == feeToSetter, 'YouSwap: FORBIDDEN");

feeTo = feeTo;

function setFeeToSetter(address _feeToSetter) external {
require(msg.sender == feeToSetter, 'YouSwap: FORBIDDEN");

feeToSetter = feeToSetter;

function setFeeToRate(uint256 . rate) external {
require(msg.sender == feeToSetter, 'YouSwap: FORBIDDEN");
require(_rate > 0, "YouSwap: FEE_ TO RATE OVERFLOW");

feeToRate = _rate.sub(1);

}
ZEEW : k.

3.6 mint ERFIFE T [1Eid ]

Xt mint SBIUR R HREEBELITHTHIT, KESSEXNTEHTR
K. REARETRRE. MEEXEHRITEERE.

WITER : HREERITEELIR.

// this low-level function should be called from a contract which performs important safety

checks
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function mint(address to) external lock returns (uint liquidity) {
(uint112 _reserve0, uintl12 reservel,) = getReserves(); // gas savings
uint balance0 = IERC20(token0).balanceOf(address(this));
uint balancel = IERC20(token1).balanceOf(address(this));
uint amount0 = balance0.sub(_reserve0);

uint amount1 = balancel.sub(_reservel);

bool feeOn = mintFee(_reserve0, reservel);
uint _totalSupply = totalSupply; // gas savings, must be defined here since totalSupply
can update in _mintFee
if (_totalSupply == 0) {
liquidity = Math.sqrt(amount0.mul(amount1)).sub(MINIMUM' LIQUIDITY);
_mint(address(0), MINIMUM LIQUIDITY); // permanently lock the first
MINIMUM_LIQUIDITY tokens
}else {
liquidity = Math.min(amountQ.mul(_totalSupply) / _reserveO,

amountl.mul(_totalSupply) / reservel);

}
require(liquidity > 0; "YouSwap: INSUFFICIENT LIQUIDITY MINTED');

_mint(to, liquidity);

_update(balance0, balancel, reserve0, reservel);
if (feeOn) kLast = uint(reserve0).mul(reservel); // reserve0 and reservel are up-to-date

emit Mint(msg.sender, amount0, amount1);

}

ZEBEW L,
3.7 Burn ERBuZ &t [1EiT ]
S burn RFIHERRECZEIOTHITEIT, REEREXNSEEHTRIE.

REAAENRRE . MEEXEHERITESEE.

-10 -
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HITER : HXEHERITAETIR.

// this low-level function should be called from a contract which performs important safety
checks
function burn(address to) external lock returns (uint amount0, uint amountl) {
(uint112 _reserve0, uint112 reservel,) = getReserves(); // gas savings
address _token( = token0; // gas savings
address _tokenl = tokenl; // gas savings
uint balance0 = IERC20(_token0).balanceOf(address(this));
uint balancel = IERC20(_tokenl).balanceOf(address(this));

uint liquidity = balanceOf[address(this)];

bool feeOn = mintFee( reserve0, reservel);
uint _totalSupply = totalSupply; / gas savings, must be defined here since totalSupply

can update in _mintFee

amount0) = liquidity.mul(balance0) /+_totalSupply; // using balances ensures pro-rata
distribution

amountl = liquidity.mul(balancel) / ,totalSupply; // using balances ensures pro-rata

distribution

require(amount0 > 0 && amountl > 0, "YouSwap:
INSUFFICIENT LIQUIDITY. BURNED");

_burn(address(this), liquidity);

. safeTransfer(_token0, to, amount0);

_safeTransfer(_tokenl, to, amountl);

balance0 =1ERC20( token0).balanceOf(address(this));

balancel = IERC20(_token1).balanceOf(address(this));

_update(balance0, balancel, reserve0, reservel);
if (feeOn) kLast = uint(reserve0).mul(reservel); // reserve0 and reservel are up-to-date

emit Burn(msg.sender, amount0, amountl, to);

}

ZEREW : T,

-11 -
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3.8 swap H=RZHIBERIT [Eid]
% swap KPR HEHBEEETHL, REREENSMEARS. &

HOFAENRRLE . MEREXEERITESRE.

HITER : HXEHERITAETIR.

// this low-level function should be called from a contract which performs important safety
checks
function swap(uint amount0Out, uint amount1Out, address to, bytes calldata data) external
lock {
require(amount0Out > 0 I amount1Out > 0, "YouSwap:
INSUFFICIENT OUTPUT_AMOUNT");
(uint112 _reserve0, uint112 reservel,) = getReserves(); // gas savings
require(amount0Out <  reserve0 && amountlOut < reservel, 'YouSwap:

INSUFFICIENT LIQUIDITY");

uint balance0;

uint balancel;

{// scope for token{0,1}, avoids stack too deep errors

address _tokenO = token0;

address | tokenl =tokenl;

require(to = token0 && to != _tokenl, 'YouSwap: INVALID TO");

if (amountOOut > 0) _safeTransfer(_token0, to, amount0Out); // optimistically transfer
tokens

if (amount1Out > 0) _safeTransfer(_tokenl, to, amount1Out); // optimistically transfer
tokens

if (data.length > 0) IYouSwapCallee(to). YouSwapV2Call(msg.sender, amountOOut,
amount1Out, data);

balance0 = IERC20(_token0).balanceOf(address(this));

balancel = IERC20(_token1).balanceOf(address(this));

H

uint amountOIln = balance0 > reserve0 - amountOOut ? balance0 - (_reserveQ -

-12-
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amountOOut) : 0;

amount10ut) : 0;

INSUFFICIENT INPUT _AMOUNT");

{// scope for reserve{0,1} Adjusted, avoids stack too deep errors

uint balanceOAdjusted = balance0.mul(1000).sub(amount0In.mul(3));
uint balance1Adjusted = balance1l.mul(1000).sub(amount1In.mul(3));
require(balance0Adjusted.mul(balance1 Adjusted)

uint(_reserve(0).mul(_reservel).mul(1000**2), 'YouSwap: K');
H

_update(balance0, balancel, reserve0, reservel);

emit Swap(msg.sender, amountOIn, amount lln;;amount0Out, amount1Out, to);

}

uint amountlIn = balancel > reservel - amountlOut ? balancel - (_reservel -

require(amountOIn > 0 [ amountlIn > 0, "YouSwap:

ZEREW : T,

-13-
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4. KBELK BN
4.1. PmiFsshi AR E [1EiT])

KREAGNRILLIFEEERT ZENREEFRRAK
RMER 2R, SREARBPHE T HIERRA 0515 DL, FFHE
ZRERE,

ZEEW : T,
42. TER [EiL)

REGARBILIFEZEEEITREE
BMER : 2100, TR EARBPAEFEIZLEEA.

ZEEW : T,
43 REFHERNER [1Ei]

BESHRBEIFREM-AT SafeMath REHEE
WMER : B0, S ALRBTEEM SafeMath REHHE, FHE
R LA,

ZEEW : T,
4.4. FHEFNRIBAN [ET]

KESHRBENTRES B ATREZAOBBIR
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BNER : 2180, TEEARBIAGFAEIZRERA,
REBW : T,

4.5. require/assert BISIBER [1FHid ]

REESARLIILE require F assert iIB0)FRHNSIEM
BNER : 2180, D 5ARBWAAEFEIZLZE O,

BN T,
4.6. fallback B4 [iFEiT)

KREGARBLLI P EZEEFREM fallback &%
KWNER : 2100, FEEARBPAFEZLR0EH.

ZEEW : T,
4.7. tx.origin SHFIE [iE1)

tx.origin ;& Solidity I—4£BEE, TRHBNMEAARINRERYAIEHE
A(HF%) NIkANt, EEEAATERALEERTINRIISFESAR
52 RN EH N T,

BMER 280, SREESARDPRGFAEIZRERH,

REEW : T,
4.8. owner ¥PR¥=HI [1E ]

KREGARBEIFH owner EEEFESHNR. B0, EREXHEM
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IKAREE,
BMER : 2100, FREARBPAFEZLEEA.

ZEEW : T,
4.9. gas JHFERM (BT ]

@& gas AHFER T BT X ER& KPR H
BMER : 2100, FREARBPAFEZLEEA.

BN T,
4.10. call SENEF [ET)

call REUAME, MIZW=HENRIES], SEESIE cal IFRAYRE.
RWER : 21, FELRMEH call BN, FAFHELLIFR.

ZEEW : T,
4.1 REEEHEE ET]

WESAREEI FREEE (call/delegatecall) HEMRETFAEXREIRIE

call B B HIPAT L TXRAHIAMMNELIF | M delegatecall FEAIHITL
TXRAESIEAIZERHMNGLF

BWER : 2N, FREARBPAFEEZLERB.

REEW : I,

-16 -
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4.12. &K MimE [EE]
REAVBURTEER, RTEATESFAEURERT 2B MR

BRWER : 2100, FEAREPTERRATHNIIEE, EHTRIAMEE
TRBRBRAH, #Ed.

ZEREW : T,

4.13. i)l ERpEtn (&)

BAPARREBYIREEGEINR

S

SESATRRPERLEHFERT public, private FXEEFHTIT N MHE
i RBESAEBREHREXIERT modifier SRR EFHTIH B R, B p
DECESCRI

BMER : 280, BHEEARB P AREFEZLERA.

ZEBW : .

4.14. B [E]

BREATNEH R AREELR L BT,

Solidity SxZREALIR 256 AL AYEF (2/256-1) , BRAHFIEI 1 REHE
0, B, HPFALFSEKEN, 0BE 1S TaERRAEFE.

REEETN TR R —MIEENRRE, BEeNagegelhLHRER. &
HERSSHALERNER, FA2MRTEMEREN, TESTEFT
E 1o of 8

BMER : 2100, FREARBPAFEZLEEA.

-17-
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ZEEW : T,
4.15. EARBEIRE [Eid)

Solidity fEA—T4HEE S A& ML BRHEESHMUNEIREWRIT, than
TE. B2 B A, R E8EESE, Soldity MIEBREEESHLE—
B AKX Fl—-Solidity X HZ S8, H Solidity FrENEECEERMPRASEE
#, TSHEIVNIIER, BROARTESUNIEREE. AATHNREZE
AT, MEBEZEENRITE UREMAENRE, FIWAERIZE : 5/2:10=20,
M 5+10/2=25, MM/=Eix%E, EEEEANTENREHREN, EHE.

BNER : KRN, FREARBDFAFEZTEREA.

REEW : T,
4.16. $RiREAREIE LES

BRAATIURTEFEAEYE, R4 Soldity REMREFIZED s
BB XERFUMASE, 20 block number # block timestamp, {ERE@HEHELL
FEXELF, HEZET ITHEm, RIXEEVHE—EEE 2T,
FTCER AR B R U E S EFREEN T A M RIETIZIE

BNER 200N, SREARWAARFEIZR LA,

ZEEW : T,
4.17. A REVFEOFEA [ET)

REGAORBELAPEEERT ALEMED

-18 -
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RWER : 2, BREARBLFAHFEZRERH.

BN T,
418. TBEES [1EiT)

REAARBLIATEEFAELEEESEN T ERA
RWER : 2, BREARBLIALHFEZRERH.

REEW : T,
4.19. RV B EFIRST (1B ]

# solidity H A VF— MEFIRAVEIRLEM A struct 5K, TRE A EHEE
E30AE A storage 3 memory 77,

{7 7E storage(f7if=%) 1 memory(R1F)2 W DARIEIEES, solidity 21FHE
FHER— DRI LRI SIA R R EEB stroage = S L 150 Hithfig

HFLE SEEXERE BEEHMAETENRER, EFRTNIZERAERETY]

i

54K struct =,
MEER : 2880, HRESARBAMEREHE, AEFEEIZOH,

ZEEWN : T

4.20. 1R EMEEAIEHE [E]

LEBA L B AMEHELNEEREAP, SOGRMEFRRBAIEHRER

|m>+

KiEo

7£ Solidity ;1 {F7E transfer(). send(). callvalue()Z&# Tk, &ol XA TME

-19-
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Rt &5% Ether, HXBIZET @ transfer KX KMAS throw, FEH#ITIR
EIR JRE%3% 2300gas AR, BiIEEALE send KERBETSIR[E false ;
R&f%iE 2300gas HIEA, BHIEEAING ; callvalue KiEKRBES<IRE false ;
B A T A gas #TIAA (TT@ITEA gas value SEHTTRRE]) , REEHR
B LA T

MRERBDFRERER L send 1 callvalue 3 T R E AR EE, &AIS%
SHITREARE, TeEMT Fther XXMM SEEIMIER.

BNER : 280N, BHEEARBIALFEZREE,

REEW : T,
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5. fiFA: §ARE

AR M AL RIR

Repurchase.sol

/ ek

*Submitted for verification at Etherscan.io on 2021-03-17
*/
/I File: localhost/contracts/interfaces/I YouSwapPair.sol

pragma solidity >=0.5.0;

interface I'YouSwapPair {
event Approval(address indexed owner, address indexed spender; uint value);

event Transfer(address indexed from, address indexed to, uint value);

function name() external pure returns (string memory);
function symbol() external pure returns (string memory);
function decimals() external pure returns (uint8);

function totalSupply() external view returns (uint);

function balanceOf(address owner) external view returns (uint);

function allowance(address owner, address spender) external view returns (uint);

function approve(address spender, uint value) external returns (bool);
function transfer(address to, uint value) external returns (bool);

function transferFrom(address from, address to, uint value) external returns (bool);

function DOMAIN SEPARATOR() external view returns (bytes32);
function PERMIT TYPEHASH() external pure returns (bytes32);

function nonces(address owner) external view returns (uint);

function permit(address owner, address spender, uint value, uint deadline, uint8 v, bytes32 r, bytes32

s) external;
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event Mint(address indexed sender, uint amount0, uint amountl);
event Burn(address indexed sender, uint amount0, uint amount1, address indexed to);
event Swap(
address indexed sender,
uint amountOlIn,
uint amount11In,
uint amount0Out,
uint amount1Out,
address indexed to
);

event Sync(uintl12 reserve0, uintl 12 reservel);

function MINIMUM_LIQUIDITY() external pure returns (uint);

function factory() external view returns (address);

function tokenO() external view returns (address);

function token1() external view returns (address);

function getReserves() external view returns (uintl12. reserve0, uintll2 reservel, uint32
blockTimestampLast);

function price0CumulativeLast() external view returns (uint);

function pricel CumulativeLast() external view returns (uint);

function kLast() external view returns (uint);

function mint(address to) external returns (uint liquidity);

function burn(address t0) external returns (uint amount0, uint amountl);

function swap(uint amountOOut, uint amount1Out, address to, bytes calldata data) external,
function skim(address to) external;

function sync() external,

function initialize(address, address) external;

// File: localhost/contracts/libraries/EnumerableSet.sol
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pragma solidity =0.5.16;

/**
* @dev Library for managing
* https://en.wikipedia.org/wiki/Set (abstract data_type)[sets] of primitive
* types.

*

* Sets have the following properties:

*

* - Elements are added, removed, and checked for existence in constant time

*(O(1)).
* - Elements are enumerated in O(n). No guarantees are made on the ordering.

*

* contract Example {

* // Add the library methods

* using EnumerableSet for EnumerableSet. AddressSet;
*

* // Declare a set state variable

* EnumerableSet. AddressSet private mySet;

*

* As of v3.3.0, sets of type “bytes32' (‘Bytes32Set’), ‘address’ (" AddressSet’)
* and "uint256" (*UintSet)are supported.
*/
library EnumerableSet {
// To implement this library for multiple types with as little code
// repetition as possible, we write it in terms of a generic Set type with
// bytes32 values.
// The Set implementation uses private functions, and user-facing
// implementations (such as AddressSet) are just wrappers around the

// underlying Set.
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// This means that we can only create new EnumerableSets for types that fit

// in bytes32.

struct Set {
// Storage of set values

bytes32[] values;

// Position of the value in the “values® array, plus 1 because index 0
// means a value is not in the set.

mapping (bytes32 =>uint256) indexes;

/**

* @dev Add a value to a set. O(1).

*

* Returns true if the value was added to the set, that is if it was not
* already present.
*/
function add(Set storage set, bytes32 value) private returns (bool) {
if (!_contains(set, value)) {
set._values.push(value);
//'The value is stored at length-1, but we add 1 to all indexes
// and use 0 as a sentinel value
set. _indexes[value] = set. values.length;
return true;
} else {

return false;

JE*

* @dev Removes a value from a set. O(1).

*
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* Returns true if the value was removed from the set, that is if it was

* present.

*/

function remove(Set storage set, bytes32 value) private returns (bool) {

// ' We read and store the value's index to prevent multiple reads from the same storage slot

uint256 valuelndex = set._indexes[value];

if (valuelndex != 0) { // Equivalent to contains(set, value)

the last one in

// To delete an element from the values array in O(1), we swap the element to delete with

// the array, and then remove the last element (sometimes called as 'swap and pop').

// This modifies the order of the array, as noted in {at}.

uint256 toDeleteIndex = valuelndex - 1;

uint256 lastIndex = set. values.length- 1;

/' When the value to delete is the last one, the swap operation is unnecessary. However,

since this occurs

// so rarely, we still do the swap anyway to avoid the gas cost of adding an 'if' statement.

bytes32 lastvalue =set. values[lastIndex];

// Move the last value to the index where the value to delete is

set. values[toDeleteIndex] = lastvalue;

// Update the index for the moved value

set. .indexes[lastvalue] = toDeleteIndex + 1; // All indexes are 1-based

// Delete the slot where the moved value was stored

set._values.pop();

// Delete the index for the deleted slot

delete set._indexes[value];
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return true;
} else {

return false;

/**
* @dev Returns true if the value is in the set. O(1).
*/
function _contains(Set storage set, bytes32 value) private view returns (bool) {

return set._indexes[value] != 0;

JE*
* @dev Returns the number of values on the set. O(1).
*/

function length(Set storage set) private view returns (uint256) {

return set._values.length;

/**
* (@dev Returns the value stored at position ‘index” in the set. O(1).
%
*Note that there are no guarantees on the ordering of values inside the
* array, and it may change when more values are added or removed.

%

* Requirements:

*

* - 'index” must be strictly less than {length}.

*/

function _at(Set storage set, uint256 index) private view returns (bytes32) {
require(set. values.length > index, "EnumerableSet: index out of bounds");

return set._values[index];
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// Bytes32Set

struct Bytes32Set {

Set _inner;

JE*

* @dev Add a value to a set. O(1).

*

* Returns true if the value was added to the set, that is if it was not
* already present.
*/
function add(Bytes32Set storage set, bytes32 value) internal returns (bool){

return _add(set._inner, value);

JE*

* @dev Removes a value from a set. O(1).

*

* Returns true if the value was removed from the set, that is if it was
* present.
*/
function remove(Bytes32Set storage set, bytes32 value) internal returns (bool) {

return remove(set. inner, value);

JE*
* @dev Returns true if the value is in the set. O(1).

*/

function contains(Bytes32Set storage set, bytes32 value) internal view returns (bool) {

return _contains(set._inner, value);
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JE*
* @dev Returns the number of values in the set. O(1).
*/

function length(Bytes32Set storage set) internal view returns (uint256) {

return _length(set. inner);

JE*

* @dev Returns the value stored at position “index’ in the set. O(1).

%

* Note that there are no guarantees on the ordering of values inside the

* array, and it may change when more values are added.or removed.

%

* Requirements:

%

* - ‘index” must be strictly less than {length}.
*/
function at(Bytes32Set storage set, uint256 index) internal view returns (bytes32) {

return _at(set. _inner, index);

/I"AddressSet

struct AddressSet {

Set _inner;

JE*

* @dev Add a value to a set. O(1).

*

* Returns true if the value was added to the set, that is if it was not
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* already present.
*/
function add(AddressSet storage set, address value) internal returns (bool) {

return _add(set. _inner, bytes32(uint256(value)));

JE*

* @dev Removes a value from a set. O(1).
%k
* Returns true if the value was removed from the set, that is if it was
* present.
*/
function remove(AddressSet storage set, address value) internal returns (bool) {

return _remove(set. inner, bytes32(uint256(value)));

JE*

* @dev Returns true if the value is in the set. O(1).

*/

function contains(AddressSet storage set, address value) internal view returns (bool) {

return _contains(set. inner, bytes32(uint256(value)));

JE*
* @dev Returns the number of values in the set. O(1).
*/
function length(AddressSet storage set) internal view returns (uint256) {

return _length(set. inner);

JE*

* @dev Returns the value stored at position “index’ in the set. O(1).

%
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* Note that there are no guarantees on the ordering of values inside the

* array, and it may change when more values are added or removed.

%

* Requirements:

%

* - ‘index’ must be strictly less than {length}.
*/
function at(AddressSet storage set, uint256 index) internal view returns (address) {

return address(uint256(_at(set._inner, index)));

// UintSet

struct UintSet {

Set _inner;

JE*

* @dev Add a value to a set. O(1).

*

* Returns true if the value was added to the set, that is if it was not
* already present.
*/
function add(UintSet storage set, uint256 value) internal returns (bool) {

return _add(set._inner, bytes32(value));

JE*

* @dev Removes a value from a set. O(1).

*

* Returns true if the value was removed from the set, that is if it was

* present.
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*/
function remove(UintSet storage set, uint256 value) internal returns (bool) {

return _remove(set. inner, bytes32(value));

JE*
* @dev Returns true if the value is in the set. O(1).
*/
function contains(UintSet storage set, uint256 value) internal view returns (bool) {

return _contains(set._inner, bytes32(value));

JE*
* @dev Returns the number of values on the set. O(1):
*/
function length(UintSet storage set) internal view returns (uint256) {

return _length(set. inner);

/**

* @dev Returns the value stored at position ‘index” in the set. O(1).

*

* Note that there are no guarantees on the ordering of values inside the
*array, and it may change when more values are added or removed.

%

* Requirements:

%

* - ‘index’ must be strictly less than {length}.
*/
function at(UintSet storage set, uint256 index) internal view returns (uint256) {

return uint256(_at(set._inner, index));
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/I File: localhost/contracts/libraries/MathV1.sol
pragma solidity >=0.5.0;
// a library for performing various math operations

library Math {
function min(uint x, uint y) internal pure returns (uint z) {

z=x<y?x:y;

i babylonian method
(https://en.wikipedia.org/wiki/Methods_of computing square roots#Babylonian_method)
function sqrt(uint y) internal pure returns (uint z) {
if(y>3){
Z=Y;
uintx=y/2+1;
while (x <z) {
Z=X;
x=(y/x+x)/2;
H
} else if (y !=0) {

z=1;

// a library for performing overflow-safe math, courtesy of DappHub (https://github.com/dapphub/ds-
math)
library SafeMath {

function add(uint x, uint y) internal pure returns (uint z) {

require((z = X +y) >= X, 'ds-math-add-overflow');
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function sub(uint x, uint y) internal pure returns (uint z) {

require((z = X - y) <= X, 'ds-math-sub-underflow");

function mul(uint x, uint y) internal pure returns (uint z) {

require(y == 0 || (z =x * y) / y ==X, 'ds-math-mul-overflow");

}

// File: localhost/contracts/interfaces/IERC20.sol

//SPDX-License-Identifier: SimPL-2.0

pragma solidity >=0.5.0;

interface IERC20 {

JE*
* @dev Returns the amount of tokens in existence.
*/

function totalSupply() external view returns (uint256);

JE*
* @dev Returns the amount of tokens owned by “account’.
*/

function balanceOf(address account) external view returns (uint256);

JE*

* @dev Moves ‘amount’ tokens from the caller's account to ‘recipient’.

*

* Returns a boolean value indicating whether the operation succeeded.

*

* Emits a {Transfer} event.
*/

function transfer(address recipient, uint256 amount) external returns (bool);
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JE*
* @dev Returns the remaining number of tokens that "spender’ will be
* allowed to spend on behalf of “owner" through {transferFrom}. This is
* zero by default.

*

* This value changes when {approve} or {transferFrom} are called.
*/

function allowance(address owner, address spender) external view returns (uint256);

/**
* @dev Sets "amount” as the allowance of ‘spender’ over the caller's tokens.

*

* Returns a boolean value indicating whether the operation succeeded.

*

* IMPORTANT: Beware that changing an allowance with this method brings the risk
* that someone may use both the old and the new allowance by unfortunate
* transaction ordering. One possible solution to mitigate this race

* condition is to first reduce the spender's.allowance to 0 and set the

* desired value afterwards:

* https://github.com/ethereum/EIPs/issues/20#issuecomment-263524729

*

* Emits an {Approval} event.

*/

function approve(address spender, uint256 amount) external returns (bool);

/**
* @dev Moves "amount’ tokens from “sender’ to ‘recipient’ using the
* allowance mechanism. ‘amount’ is then deducted from the caller's

* allowance.

*

* Returns a boolean value indicating whether the operation succeeded.

*
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}

* Emits a {Transfer} event.
*/

function transferFrom(address sender, address recipient, uint256 amount) external returns (bool);

JE*
* @dev Emitted when “value™ tokens are moved from one account (*from") to

* another ('to").

*

* Note that ‘value' may be zero.
*/

event Transfer(address indexed from, address indexed to, uint256 value);

JE*
* @dev Emitted when the allowance of a “spender’for an "owner is set by
* a call to {approve}. ‘value' is the new allowance.

*/

event Approval(address indexed owner, address indexed spender, uint256 value);

// File: localhost/contracts/token/Repurchase.sol

pragma solidity =0.5:16;

contract Ownable {

address private _owner;

event OwnershipTransferred(address indexed previousOwner, address indexed newOwner);

JE*
* @dev Initializes the contract setting the deployer as the initial owner.
*/

constructor () internal {

_owner = msg.sender;
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emit OwnershipTransferred(address(0), msg.sender);

JE*
* @dev Returns the address of the current owner.
*/

function owner() public view returns (address) {

return _owner;

JE*
* @dev Throws if called by any account other than the owner.
*/

modifier onlyOwner() {

require(_owner == msg.sender, "YouSwap: CALLER IS. NOT THE/OWNER");

JE*

* @dev Leaves the contract without owner. It will not be possible to call
* “onlyOwner functions anymore. Can only be called by the current owner.
%k
* NOTE: Renouncing ownership will leave the contract without an owner,
* thereby removing any. functionality that is only available to the owner.
*/
function renounceOwnership() public onlyOwner {
emit OwnershipTransferred(_owner, address(0));

_owner = address(0);

JE*

* @dev Transfers ownership of the contract to a new account (‘'newOwner").

* Can only be called by the current owner.
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*/
function transferOwnership(address newOwner) public onlyOwner {
require(newOwner 1= address(0), "YouSwap:
NEW_OWNER IS THE ZERO ADDRESS");
emit OwnershipTransferred(_owner, newOwner);

_owner = IICWOWI’IGI';

contract Repurchase is Ownable {

using SafeMath for uint256;

using EnumerableSet for EnumerableSet. AddressSet;

EnumerableSet.AddressSet private caller;

bytes4 private constant SELECTOR = bytes4(keccak256(bytes('transfer(address,uint256)")));
address public constant USDT =0xFA8B1212119197eC88Fc768 AF1b04aD0519Ad994;
address public constant YOU = 0x1093EcdBACa4168F136f3BEfd17a261bfbbeDdA3;

address public constant YOU USDT = 0x94339BbdB9550a5758Da5SEC65C547520EC819520;
address public constant destroyAddress = 0xF971ec570538874F33cbc35C5156e9C3bC8CeF66;
address public emergencyAddress;

uint256 public amountln;

constructor (uint256 _amount, address _emergencyAddress) public {
require(_amount > 0, "Amount must be greater than zero");
require(_emergencyAddress != address(0), "Is zero address");
amountln = amount;

emergencyAddress = emergencyAddress;

function setAmountIn(uint256 newln) public onlyOwner {

amountln = newln;

-39.-



S sniEglF YouSwap H i #r

function setEmergencyAddress(address newAddress) public onlyOwner {
require(_newAddress != address(0), "Is zero address");

emergencyAddress = newAddress;

function addCaller(address newCaller) public onlyOwner returns (bool) {
require(_newCaller != address(0), "NewCaller is the zero address");

return EnumerableSet.add(_caller, newCaller);

function delCaller(address _delCaller) public onlyOwner returns (bool) {
require(_delCaller != address(0), "DelCaller is the zero address");

return EnumerableSet.remove(_caller, _delCaller);

function getCallerLength() public view returns (uint256) {

return EnumerableSet:length(. caller);

function isCaller(address _call) public view returns (bool) {

return EnumerableSet.contains(_caller, call);

function getCaller(uint256 _index) public view returns (address){
require(_index <= getCallerLength() - 1, "index out of bounds");

return EnumerableSet.at(_caller, _index);

function swap() external onlyCaller returns (uint256 amountOut){

require(IERC20(USDT).balanceOf(address(this)) >= amountln,

balance");
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(uint256 reserve0, uint256 reservel,) = [YouSwapPair(YOU USDT).getReserves();

uint256 amountlnWithFee = amountln.mul(997);

amountOut = amountIn.mul(997).mul(reserve0) / reservel.mul(1000).add(amountInWithFee);
_safeTransfer(USDT, YOU USDT, amountIn);

I'YouSwapPair(YOU_ USDT).swap(amountOut, 0, destroyAddress, new bytes(0));

modifier onlyCaller() {

require(isCaller(msg.sender), "Not the caller");

function emergency Withdraw(address _token) public onlyOwner {
require(IERC20(_token).balanceOf(address(this))> 0, "Insufficient contract balance");

IERC20(_token).transfer(emergencyAddress, IERC20( token).balanceOf(address(this)));

function _safeTransfer(address token, address to, uint value) private {
(bool success, bytes‘memory data) = token.call(abi.encodeWithSelector(SELECTOR, to,
value));
require(success . &&  (data.length == 0 || abi.decode(data, (bool))), 'YouSwap:

TRANSFER FAILED");

}

}
TIERC20.s0l

//SPDX-License-Identifier: SimPL-2.0

pragma solidity >=0.5.0;

interface IERC20 {

JE*

* @dev Returns the amount of tokens in existence.
*/

function totalSupply() external view returns (uint256);
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/**
* @dev Returns the amount of tokens owned by “account’.
*/

function balanceOf(address account) external view returns (uint256);

JE*

* @dev Moves ‘amount’ tokens from the caller's account to ‘recipient’.

*

* Returns a boolean value indicating whether the operation succeeded.

*

* Emits a {Transfer} event.
*/

function transfer(address recipient, uint256 amount).external returns (bool);

JE*
* @dev Returns the remaining number of tokens that "spender’ will be
* allowed to spend on behalf of “owner" through {transferFrom}. This is

* zero by default.

*

* This value changes when {approve} or {transferFrom} are called.
*/

function allowance(address owner, address spender) external view returns (uint256);

JE*

* @dev Sets:'amount” as the allowance of ‘spender’ over the caller's tokens.

*

* Returns a boolean value indicating whether the operation succeeded.

*

* IMPORTANT: Beware that changing an allowance with this method brings the risk
* that someone may use both the old and the new allowance by unfortunate
* transaction ordering. One possible solution to mitigate this race

* condition is to first reduce the spender's allowance to 0 and set the
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* desired value afterwards:
* https://github.com/ethereum/EIPs/issues/20#issuecomment-263524729

*

* Emits an {Approval} event.
*/

function approve(address spender, uint256 amount) external returns (bool);

JE*
* @dev Moves "amount’ tokens from “sender’ to ‘recipient’ using the
* allowance mechanism. ‘amount’ is then deducted from the caller's

* allowance.

*

* Returns a boolean value indicating whether the operation succeeded.

*

* Emits a {Transfer} event.
*/

function transferFrom(address sender, address recipient, uint256 amount) external returns (bool);

/**

* @dev Emitted when ‘value’ tokens are moved from one account (*from’) to
* another ("to)).

%k

* Note that ‘value' may be zero.

*/

event Transfer(address indexed from, address indexed to, uint256 value);

JE*

* @dev Emitted when the allowance of a “spender’ for an “owner" is set by
* a call to {approve}. ‘value" is the new allowance.
*/
event Approval(address indexed owner, address indexed spender, uint256 value);

H
I'YouSwapCallee.sol
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pragma solidity >=0.5.0;

interface I'YouSwapCallee {

function YouSwapV2Call(address sender, uint amount0, uint amount1, bytes calldata data) external;

I'YouSwapERC20

pragma solidity >=0.5.0;

interface IYouSwapERC20 {
event Approval(address indexed owner, address indexed spender, uint value);

event Transfer(address indexed from, address indexed to, uint value);

function name() external pure returns (string memory);
function symbol() external pure returns (string memory);
function decimals() external pure returns (uint8);

function totalSupply() external view returns (uint);

function balanceOf(address owner) external view returns (uint);

function allowance(address owner; address spender) external view returns (uint);

function approye(address spender, uint value) external returns (bool);
function transfer(address to, uint value) external returns (bool);

function transferFrom(address from, address to, uint value) external returns (bool);

function DOMAIN SEPARATOR() external view returns (bytes32);
function PERMIT TYPEHASH() external pure returns (bytes32);

function nonces(address owner) external view returns (uint);

function permit(address owner, address spender, uint value, uint deadline, uint8 v, bytes32 r, bytes32

s) external;

}

I'YouSwapFactory.sol
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pragma solidity >=0.5.0;

interface I'YouSwapFactory {

event PairCreated(address indexed token0, address indexed token1, address pair, uint);

function feeTo() external view returns (address);

function feeToSetter() external view returns (address);

function getPair(address tokenA, address tokenB) external view returns (address pair);
function allPairs(uint) external view returns (address pair);

function allPairsLength() external view returns (uint);
function createPair(address tokenA, address tokenB) external returns (address pair);

function setFeeTo(address) external;

function setFeeToSetter(address) external;

function setFeeToRate(uint256) external;

function feeToRate() external view: returns (uint256);

I'YouSwapPair.sol

pragma solidity >=0.5.0;

interface I YouSwapPair {
event Approval(address indexed owner, address indexed spender, uint value);

event Transfer(address indexed from, address indexed to, uint value);

function name() external pure returns (string memory);
function symbol() external pure returns (string memory);
function decimals() external pure returns (uint8);
function totalSupply() external view returns (uint);

function balanceOf(address owner) external view returns (uint);
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function allowance(address owner, address spender) external view returns (uint);

function approve(address spender, uint value) external returns (bool);
function transfer(address to, uint value) external returns (bool);

function transferFrom(address from, address to, uint value) external returns (bool);

function DOMAIN_SEPARATOR() external view returns (bytes32);
function PERMIT TYPEHASH() external pure returns (bytes32);

function nonces(address owner) external view returns (uint);

function permit(address owner, address spender, uint value, uint deadline, uint8 v, bytes32 r, bytes32

s) external;

event Mint(address indexed sender, uint amount(, uint-amountl);
event Burn(address indexed sender, uint amount0, uint amountl, address indexed to);
event Swap(
address indexed sender,
uint amountOlIn,
uint amount11In,
uint amount0Out,
uint amount1Out,
address indexed to
);

event Sync(uint112 reserve0, uintl 12 reservel);

function MINIMUM _LIQUIDITY() external pure returns (uint);

function factory() external view returns (address);

function token0() external view returns (address);

function token1() external view returns (address);

function getReserves() external view returns (uintll12 reserve0, uintll12 reservel, uint32
blockTimestampLast);

function price0CumulativeLast() external view returns (uint);

function pricel CumulativeLast() external view returns (uint);
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function kLast() external view returns (uint);

function mint(address to) external returns (uint liquidity);

function burn(address to) external returns (uint amount0, uint amountl);

function swap(uint amountOOut, uint amount1Out, address to, bytes calldata data) external;
function skim(address to) external;

function sync() external;

function initialize(address, address) external;

MathV1.sol

pragma solidity >=0.5.0;
// a library for performing various math operations

library Math {
function min(uint x, uint y) interhal pure returns (uint z) {

z=x<y?x:y;

i babylonian method
(https://en.wikipedia.org/wiki/Methods_of computing square roots#Babylonian method)
function sqrt(uint y) internal pure returns (uint z) {
if(y>3) {
Z=Y;
uintx=y/2+1;
while (x <z) {
Z=X;
x=(y/x+x)/2;
H
}else if (y 1=0) {

z=1;

-47 -



S sniEglF YouSwap e AL i i

// a library for performing overflow-safe math, courtesy of DappHub (https://github.com/dapphub/ds-
math)

library SafeMath {

function add(uint x, uint y) internal pure returns (uint z) {

require((z = X +y) >= X, 'ds-math-add-overflow');

function sub(uint x, uint y) internal pure returns (uint z) {

require((z = X - y) <= X, 'ds-math-sub-underflow");

function mul(uint x, uint y) internal pure returns (uint z) {

require(y == 0 || (z =x * y) / y ==X, 'ds-math-mul-overflow");

b
UQ112x112.s0l

pragma solidity =0.5:16;
/Falibrary for handling binary fixed point numbers (https://en.wikipedia.org/wiki/Q_ (number format))

// range: [0, 2%*112 - 1]

// resolution: 1 /2**112

library UQ112x112 {

uint224 constant Q112 = 2**112;

// encode a uintl112 as a UQ112x112
function encode(uint112 y) internal pure returns (uint224 z) {

z =uint224(y) * Q112; // never overflows
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// divide a UQ112x112 by a uint112, returning a UQ112x112
function uqdiv(uint224 x, uint112 y) internal pure returns (uint224 z) {

z =x /uint224(y);

H
YouSwapERC20.s0l

pragma solidity =0.5.16;

import '/interfaces/I YouSwapERC20.sol';

import '/libraries/MathV1.sol';

contract YouSwapERC20 is ['YouSwapERC20 {

using SafeMath for uint;

string public constant name = "YouSwap LP Token';
string public constant symbol = "ULP";

uint8 public constant decimals = 18;

uint public totalSupply;

mapping(address =>wuint) public balanceOf;

mapping(address => mapping(address => uint)) public allowance;

bytes32 public DOMAIN SEPARATOR;
/I keccak256("Permit(address owner,address spender,uint256 value,uint256 nonce,uint256
deadline)");
bytes32 public constant PERMIT TYPEHASH =
0x6e71edael2b1b97f4d1f60370fef10105fa2faae0126114a169c64845d6126¢9;

mapping(address => uint) public nonces;

event Approval(address indexed owner, address indexed spender, uint value);

event Transfer(address indexed from, address indexed to, uint value);
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constructor() public {
uint chainld;
assembly {
chainld := chainid
}
DOMAIN SEPARATOR = keccak256(
abi.encode(
keccak256('EIP712Domain(string name,string version,uint256 chainld,address
verifyingContract)'),
keccak256(bytes(name)),
keccak256(bytes('1")),
chainld,

address(this)

function mint(address to, uint value) internal {
totalSupply = totalSupply.add(value);
balanceOf[to] = balanceOf[to].add(value);

emit Transfer(address(0), to, value);

function . burn(address from, uint value) internal {
balanceOf[ from] =balanceOf[ from].sub(value);
totalSupply = totalSupply.sub(value);

emit Transfer(from, address(0), value);

function _approve(address owner, address spender, uint value) private {
allowance[owner][spender] = value;

emit Approval(owner, spender, value);
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function _transfer(address from, address to, uint value) private {
balanceOf[from] = balanceOf[ from].sub(value);
balanceOf[to] = balanceOf[to].add(value);

emit Transfer(from, to, value);

function approve(address spender, uint value) external returns (bool) {
_approve(msg.sender, spender, value);

return true;

function transfer(address to, uint value) external returns (bool) {
_transfer(msg.sender, to, value);

return true;

function transferFrom(address from, address to, uint value) external returns (bool) {
if (allowance[from][msg.sender] !=uint(-1)) {
allowance[from][msg.sender] = allowance[from][msg.sender].sub(value);
}
__transfer(from, to, value);

return true;

function permit(address owner, address spender, uint value, uint deadline, uint8 v, bytes32 r, bytes32
s) external {
require(deadline >= block.timestamp, 'YouSwap: EXPIRED");
bytes32 digest = keccak256(
abi.encodePacked(
"\x19\x01",
DOMAIN_SEPARATOR,

keccak256(abi.encode(PERMIT_TYPEHASH, owner, spender, value,
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nonces[owner|++, deadline))
)
)i
address recoveredAddress = ecrecover(digest, v, 1, s);
require(recoveredAddress != address(0) && recoveredAddress == owner, 'YouSwap:
INVALID SIGNATURE");

_approve(owner, spender, value);

}

YouSwapFactory,sol
pragma solidity =0.5.16;

import './interfaces/I YouSwapFactory.sol';
import './YouSwapPair.sol';

import '/libraries/MathV1.sol';

contract YouSwapFactory is [YouSwapFactory {

using SafeMath for uint;

address public feeTo;
address public feeToSetter;
uint256 public feeToRate;

bytes32 public initCodeHash;

mapping(address => mapping(address => address)) public getPair;

address[] public allPairs;
event PairCreated(address indexed token0, address indexed tokenl, address pair, uint);
constructor(address _feeToSetter) public {

feeToSetter = feeToSetter;

initCodeHash = keccak256(abi.encodePacked(type(YouSwapPair).creationCode));

-5)-




S sniEglF YouSwap e AL i i

function allPairsLength() external view returns (uint) {

return allPairs.length;

function createPair(address tokenA, address tokenB) external returns (address pair) {
require(tokenA != tokenB, 'YouSwap: IDENTICAL ADDRESSES");
(address token0, address token1) = tokenA < tokenB ? (tokenA, tokenB) : (tokenB, tokenA);
require(token( != address(0), 'YouSwap: ZERO ADDRESS');
require(getPair[tokenO][token1] == address(0), "YouSwap: PAIR _EXISTS"); // single check is
sufficient
bytes memory bytecode = type(YouSwapPair).creationCode;
bytes32 salt = keccak256(abi.encodePacked(token0, tokenl));
assembly {
pair := create2(0, add(bytecode, 32), mload(bytecode), salt)
}
I'YouSwapPair(pair).initialize(token0, token1);
getPair[tokenO][token1] = pair;
getPair[token1][token0] = pair; // populate mapping in the reverse direction
allPairs.push(pair);

emit PairCreated(token0, tokenl, pair, allPairs.length);

function setFeeTo(address feeTo) external {
require(msg.sender == feeToSetter, 'YouSwap: FORBIDDEN");

feeTo = feeTo;

function setFeeToSetter(address _feeToSetter) external {
require(msg.sender == feeToSetter, 'YouSwap: FORBIDDEN");

feeToSetter = feeToSetter;
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function setFeeToRate(uint256 rate) external {
require(msg.sender == feeToSetter, 'YouSwap: FORBIDDEN');
require(_rate > 0, "YouSwap: FEE TO RATE OVERFLOW");

feeToRate = rate.sub(1);

}

YouSwapPair.sol

pragma solidity =0.5.16;

import '/interfaces/I YouSwapPair.sol';
import './YouSwapERC20.sol';

import '/libraries/MathV1.sol';

import '/libraries/UQ112x112.sol';

import '/interfaces/IERC20.sol';

import './interfaces/I YouSwapFactory.sol';

import '/interfaces/I YouSwapCallee.sol';
contract YouSwapPair is [YouSwapPair, YouSwapERC20 {
using SafeMath for uint;

using UQ112x142 for uint224;

uint public constant MINIMUM. LIQUIDITY = 10**3;

YouSwap & g

ELH RS

bytes4 private constant SELECTOR = bytes4(keccak256(bytes('transfer(address,uint256)"));

address public factory;
address public token0;
address public tokenl;
uint112 private reserve0; // uses single storage slot, accessible via getReserves
uint112 private reservel; // uses single storage slot, accessible via getReserves

uint32 private blockTimestampLast; // uses single storage slot, accessible via getReserves
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uint public price0CumulativeLast;
uint public pricel CumulativeLast;

uint public kLast; // reserve0 * reservel, as of immediately after the most recent liquidity event

uint private unlocked = 1;

modifier lock() {
require(unlocked == 1, "YouSwap: LOCKED");
unlocked = 0;

)

unlocked = 1;

function getReserves() public view returns (uintll12 | reserve0, uintll2 reservel, uint32
_blockTimestampLast) {
_reserve0 = reserve0;
_reservel =reservel;

_blockTimestampLast = blockTimestampLast;

function _safeTransfer(address token, address to, uint value) private {
(bool success, bytes memory data) = token.call(abi.encodeWithSelector(SELECTOR, to,
value));
require(success && (data.length == 0 || abi.decode(data, (bool))), 'YouSwap:

TRANSFER FAILED");

}

event Mint(address indexed sender, uint amount0, uint amountl);
event Burn(address indexed sender, uint amount0, uint amountl, address indexed to);
event Swap(

address indexed sender,

uint amountOlIn,

uint amount11In,

uint amount0Out,
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uint amount1Out,
address indexed to
);

event Sync(uintl12 reserve0, uintl 12 reservel);

constructor() public {

factory = msg.sender;

// called once by the factory at time of deployment

function initialize(address _token0, address tokenl) external {
require(msg.sender == factory, 'YouSwap: FORBIDDEN"); // sufficientcheck
token0 = _tokenO;

tokenl = tokenl;

// update reserves and, on the first call perblock, price accumulators
function update(uint balance0, uint balancel, uintl112. reserve0, uintl12 reservel) private {
require(balance0 <= uint112(-1) && balancel <= uint112(-1), "YouSwap: OVERFLOW");
uint32 blockTimestamp = uint32(block.timestamp % 2**32);
uint32 timeElapsed = blockTimestamp - blockTimestampLast; // overflow is desired
if (timeElapsed > 0 && reservel != 0 && reservel !=0) {
/! * never overflows, and + overflow is desired
priceOCumulativeLast += uint(UQ112x112.encode(_reservel).uqdiv(_reserve0)) *
timeElapsed;
pricel CumulativeLast += uint(UQI12x112.encode( reserve0).uqdiv(_reservel)) *
timeElapsed;
}
reserve0 = uint112(balance0);
reservel = uintl12(balancel);
blockTimestampLast = blockTimestamp;

emit Sync(reserve0, reservel);
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// if fee is on, mint liquidity equivalent to 1/6th of the growth in sqrt(k)
function mintFee(uint112 reserve0, uintl12 reservel) private returns (bool feeOn) {
address feeTo = I'YouSwapFactory(factory).feeTo();
feeOn = feeTo != address(0);
uint _kLast = kLast; // gas savings
if (feeOn) {
if ( kLast !=0) {
uint rootK = Math.sqrt(uint(_reserve(Q).mul(_reservel));
uint rootKLast = Math.sqrt(_kLast);
if (rootK > rootKLast) {
uint numerator = totalSupply.mul(rootK.sub(rootKLast));
uint denominator =
rootK.mul(I'YouSwapFactory(factory).feeToRate()).add(rootKLast);
uint liquidity = numerator / denominator;

if (liquidity > 0) _mint(feeTo, liquidity);

H
} else if (_kLast !=0){

kLast = 0;

/I'this low-level function should be called from a contract which performs important safety checks
function mint(address to) external lock returns (uint liquidity) {

(uint112 . reserve(, uint112 _reservel,) = getReserves(); // gas savings

uint balance0 = IERC20(token0).balanceOf(address(this));

uint balancel = [ERC20(token1).balanceOf(address(this));

uint amount0 = balance0.sub(_reserve0);

uint amount1 = balancel.sub(_reservel);

bool feeOn = mintFee(_reserve(, reservel);

uint _totalSupply = totalSupply; // gas savings, must be defined here since totalSupply can
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update in _mintFee
if (_totalSupply == 0) {
liquidity = Math.sqrt(amount0.mul(amount1)).sub(MINIMUM _LIQUIDITY);
_mint(address(0), MINIMUM_ LIQUIDITY); // permanently lock the first
MINIMUM_LIQUIDITY tokens
} else {
liquidity = Math.min(amount0.mul(_totalSupply) / _reserve0,
amountl.mul(_totalSupply) / reservel);
}
require(liquidity > 0, "YouSwap: INSUFFICIENT LIQUIDITY MINTED');

_mint(to, liquidity);

_update(balance0, balancel, reserve0, reservel);
if (feeOn) kLast = uint(reserve0).mul(reservel );// reserveQ and reservel are up-to-date

emit Mint(msg.sender, amount0, amount1);

// this low-level function should be called from a contract which performs important safety checks
function burn(address to) external lock returns (uint amount0, uint amountl) {

(uint112 _reserve0,uintl12 reservel,) = getReserves(); // gas savings

address _tokenO = tokenO; // gas savings

address tokenl = tokenl; // gas savings

uint balance0 = IERC20(" token0).balanceOf(address(this));

uint-balancel = IERC20(_tokenl).balanceOf(address(this));

uint liquidity = balanceOf]address(this)];

bool feeOn = mintFee(_reserve(, reservel);

uint _totalSupply = totalSupply; // gas savings, must be defined here since totalSupply can
update in _mintFee

amount0) = liquidity.mul(balance0) / _totalSupply; // using balances ensures pro-rata
distribution

amount! = liquidity.mul(balancel) / _totalSupply; // using balances ensures pro-rata

distribution
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require(amount( > 0 && amountl > 0, "YouSwap:
INSUFFICIENT LIQUIDITY BURNED');

_burn(address(this), liquidity);

_safeTransfer(_token0, to, amount0);

_safeTransfer(_tokenl, to, amountl);

balance0 = IERC20(_token0).balanceOf(address(this));

balancel = IERC20(_tokenl).balanceOf(address(this));

_update(balance0, balancel, reserve0, reservel);
if (feeOn) kLast = uint(reserve0).mul(reservel); // reserve0 and reservel are up-to-date

emit Burn(msg.sender, amount0, amountl, to);

// this low-level function should be called from a contract which performs important safety checks
function swap(uint amountOOut, uint amount1Out, address to, bytes calldata data) external lock {
require(amountOOut > 0 I amount10ut > 0, "YouSwap:
INSUFFICIENT OUTPUT AMOUNT");
(uint112 _reserve0, uint1 12 reservel,) = getReserves(); // gas savings
require(amount0Out <~ < reserve0. && amountlOut <  reservel, 'YouSwap:

INSUFFICIENT LIQUIDITY");

uint balance0;

uint balancel;

{/I'scope for token{0,1}, avoids stack too deep errors

address _token0 = token0;

address _tokenl = tokenl;

require(to !=_token0 && to !=_tokenl, "'YouSwap: INVALID TO");

if (amountOOut > 0) _safeTransfer(_token0, to, amountOOut); // optimistically transfer tokens

if (amount1Out > 0) safeTransfer(_tokenl, to, amount1Out); // optimistically transfer tokens

if (datadength > 0) IYouSwapCallee(to).YouSwapV2Call(msg.sender, amountOOut,
amount1Out, data);

balance0 = IERC20(_token0).balanceOf(address(this));

balancel = IERC20(_tokenl).balanceOf(address(this));
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}

uint amountOIn = balance0 > reserve0 - amount0Out ? balance0 - (_reserve0 - amount0Out) :
0;

uint amount1In = balancel > reservel - amount1Out ? balancel - (_reservel - amount1Out) :
0;

require(amountOIn > 0 || amount1In > 0, 'YouSwap: INSUFFICIENT INPUT AMOUNT");

{ // scope for reserve{0,1} Adjusted, avoids stack too deep errors

uint balance0Adjusted = balance0.mul(1000).sub(amountOIn.mul(3));

uint balancel Adjusted = balancel.mul(1000).sub(amount1In.mul(3));
require(balance0Adjusted.mul(balancel Adjusted) >=

uint(_reserve0).mul(_reservel).mul(1000**2), 'YouSwap: K');

}

_update(balance0, balancel, reserve0, reservel);

emit Swap(msg.sender, amountOln, amountlIn, amountQOut, amount1Out, to);

// force balances to match reserves
function skim(address to) external lock {
address _tokenO = tokenO; // gas savings
address _tokenl = tokenl; // gas savings
_safeTransfer(_token0, to, [IERC20( token0).balanceOf(address(this)).sub(reserve0));

_safeTransfer(. tokenl, to, IERC20(_tokenl).balanceOf(address(this)).sub(reservel));

// force reserves to match balances
function sync() external lock {
_update(IERC20(token0).balanceOf(address(this)),

IERC20(token1).balanceOf(address(this)), reserve0, reservel);

}

YouSwapRouter.sol
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/**

*Submitted for verification at Etherscan.io on 2021-03-13

*/
/I File: localhost/contracts/interfaces/ISwapMining.sol
pragma solidity >=0.5.0;
interface ISwapMining {
function swap(address account, address input, address output, uint256 amount) external returns
(bool);
H
// File: localhost/contracts/interfaces/IWETH.sol

pragma solidity >=0.5.0;

interface IWETH {
function deposit() external‘payable;
function transfer(address to, uint value) external returns (bool);

function withdraw(uint) external;
/I File: localhost/contracts/interfaces/IERC20.sol
pragma solidity >=0.5.0;
interface IERC20 {
event Approval(address indexed owner, address indexed spender, uint value);

event Transfer(address indexed from, address indexed to, uint value);

function name() external view returns (string memory);

function symbol() external view returns (string memory);
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function decimals() external view returns (uint8);
function totalSupply() external view returns (uint);
function balanceOf(address owner) external view returns (uint);

function allowance(address owner, address spender) external view returns (uint);

function approve(address spender, uint value) external returns (bool);

function transfer(address to, uint value) external returns (bool);

function transferFrom(address from, address to, uint value) external returns (bool);
// File: localhost/contracts/libraries/SafeMath.sol

pragma solidity =0.6.6;

// a library for performing overflow-safe math, courtesy of DappHub (https://github.com/dapphub/ds-

math)

library SafeMath {
function add(uint x, uint y) internal pure returns (uint z) {

require((z = X +y) >= X, 'ds-math-add-overflow');

function sub(uint x; uint y) internal pure returns (uint z) {

require((z = X - y) <= X, 'ds-math-sub-underflow");

function mul(uint x, uint y) internal pure returns (uint z) {

require(y == 0 || (z =x * y) / y ==X, 'ds-math-mul-overflow");

/I File: localhost/contracts/interfaces/I YouSwapPair.sol
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pragma solidity >=0.5.0;

interface I'YouSwapPair {
event Approval(address indexed owner, address indexed spender, uint value);

event Transfer(address indexed from, address indexed to, uint value);

function name() external pure returns (string memory);
function symbol() external pure returns (string memory);
function decimals() external pure returns (uint8);

function totalSupply() external view returns (uint);

function balanceOf(address owner) external view returns (uint);

function allowance(address owner, address spender) external view returns (uint);

function approve(address spender, uint value) external returns (bool);
function transfer(address to, uint value) external'returns (bool);

function transferFrom(address from, address to, uint value) external returns (bool);

function DOMAIN_SEPARATOR() external view returns (bytes32);
function PERMIT TYPEHASH() external pure returns (bytes32);

function nonces(address owner) external view returns (uint);

function permit(address owner, address spender, uint value, uint deadline, uint8 v, bytes32 r, bytes32

s) external;

event Mint(address indexed sender, uint amount0, uint amountl);
event Burn(address indexed sender, uint amount0, uint amountl, address indexed to);
event Swap(

address indexed sender,

uint amountOlIn,

uint amount11In,

uint amount0Out,

uint amount1Out,

address indexed to
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event Sync(uintl12 reserve0, uintl 12 reservel);

function MINIMUM_LIQUIDITY() external pure returns (uint);

function factory() external view returns (address);

function tokenO() external view returns (address);

function token1() external view returns (address);

function getReserves() external view returns (uintll12 reserve0, uintll2 reservel, uint32
blockTimestampLast);

function price0CumulativeLast() external view returns (uint);

function pricel CumulativeLast() external view returns (uint);

function kLast() external view returns (uint);

function mint(address to) external returns (uint liquidity);

function burn(address to) external returns (uint amount0, uint amountl);

function swap(uint amountOOut, uint amount1QOut, address to, bytes calldata data) external;
function skim(address to) external;

function sync() external,

function initialize(address, address) external;

/I'File: localhost/contracts/libraries/YouSwapLibrary.sol

pragma solidity >=0.5.0;

library YouSwapLibrary {

using SafeMath for uint;

// returns sorted token addresses, used to handle return values from pairs sorted in this order

function sortTokens(address tokenA, address tokenB) internal pure returns (address token0, address
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tokenl) {
require(tokenA != tokenB, "YouSwapLibrary: IDENTICAL ADDRESSES");
(token0, token1) = tokenA < tokenB ? (tokenA, tokenB) : (tokenB, tokenA);

require(token( != address(0), 'YouSwapLibrary: ZERO ADDRESS");

// calculates the CREATE2 address for a pair without making any external calls
function pairFor(address factory, address tokenA, address tokenB) internal pure returns (address
pair) {
(address token0, address token1) = sortTokens(tokenA, tokenB);
pair = address(uint(keccak256(abi.encodePacked(
hex'ff',
factory,
keccak256(abi.encodePacked(tokenO, tokenl)),
hex'8919347964£406fcc7¢9a98fd3e05¢8ba3e0270039¢1¢056121a8bffd0f2789¢" //

init code hash

M)

// fetches and sorts the reserves for a pair
function getReserves(address factory, address tokenA, address tokenB) internal view returns (uint
reserveA, uint reserveB) {
(address token0,) = sortTokens(tokenA, tokenB);
(uint.. reserve0, » uint reservel,) =  IYouSwapPair(pairFor(factory,  tokenA,
tokenB)).getReserves();

(reserveA, reserveB) = tokenA == token0 ? (reserve0, reservel) : (reservel, reserve0);

// given some amount of an asset and pair reserves, returns an equivalent amount of the other asset
function quote(uint amountA, uint reserveA, uint reserveB) internal pure returns (uint amountB) {
require(amountA > 0, "YouSwapLibrary: INSUFFICIENT AMOUNT");
require(reserveA > 0 && reserveB > 0, 'YouSwapLibrary: INSUFFICIENT LIQUIDITY");

amountB = amountA.mul(reserveB) / reserveA;
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// given an input amount of an asset and pair reserves, returns the maximum output amount of the
other asset
function getAmountOut(uint amountIn, uint reserveln, uint reserveOut) internal pure returns (uint
amountOut) {
require(amountIn > 0, "YouSwapLibrary: INSUFFICIENT INPUT AMOUNT);
require(reserveln > 0 && reserveOut > 0, 'YouSwapLibrary: INSUFFICIENT LIQUIDITY");
uint amountInWithFee = amountIn.mul(997);
uint numerator = amountInWithFee.mul(reserveOut);
uint denominator = reserveln.mul(1000).add(amountlnWithFee);

amountOut = numerator / denominator;

// given an output amount of an asset and pair reserves, returns.a required input amount of the other
asset
function getAmountIn(uint amountOut, uint reserveln, uint.reserveOut) internal pure returns (uint
amountln) {
require(amountOut >0, "YouSwapLibrary: INSUFFICIENT OUTPUT AMOUNT");
require(reserveln >0 && reserveOut > 0, "YouSwapLibrary: INSUFFICIENT LIQUIDITY");
uint numerator = reserveln.mul(amountOut).mul(1000);
uint denominator = reserveOut.sub(amountOut).mul(997);

amountIn = (numerator / denominator).add(1);

// performs chained getAmountOut calculations on any number of pairs
function getAmountsOut(address factory, uint amountln, address[] memory path) internal view
returns (uint[] memory amounts) {
require(path.length >= 2, "YouSwapLibrary: INVALID PATH');
amounts = new uint[](path.length);
amounts[0] = amountIn;
for (uint i; 1 < path.length - 1; i++) {

(uint reserveln, uint reserveOut) = getReserves(factory, path[i], path[i + 1]);
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amounts[i + 1] = getAmountOut(amounts[i], reserveln, reserveOut);

// performs chained getAmountIn calculations on any number of pairs
function getAmountsin(address factory, uint amountOut, address[] memory path) internal view
returns (uint[] memory amounts) {
require(path.length >= 2, 'YouSwapLibrary: INVALID PATH');
amounts = new uint[](path.length);
amounts[amounts.length - 1] = amountOut;
for (uint 1 = path.length - 1; 1> 0; i--) {
(uint reserveln, uint reserveOut) = getReserves(factory, path[i - 1], path[i]);

amounts[i - 1] = getAmountIn(amounts[i], reserveln, reserveOut);

// File: localhost/contracts/interfaces/I'YouSwapRouter.sol
pragma solidity >=0.6.2;

interface I YouSwapRouter {
function factory() external pure returns (address);
function WETH() external pure returns (address);

function swapMining() external pure returns (address);

function addLiquidity(
address tokenA,
address tokenB,
uint amountADesired,
uint amountBDesired,
uint amountAMin,

uint amountBMin,
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address to,

uint deadline
) external returns (uint amountA, uint amountB, uint liquidity);
function addLiquidityETH(

address token,

uint amountTokenDesired,

uint amountTokenMin,

uint amountETHMin,

address to,

uint deadline
) external payable returns (uint amountToken, uint amountETH, uint liquidity);
function removeLiquidity(

address tokenA,

address tokenB,

uint liquidity,

uint amountAMin,

uint amountBMin,

address to,

uint deadline
) external returns (uint amountA, uint amountB);
function removeLiquidity ETH(

address token,

uint liquidity,

uint-amountTokenMin,

uint amountETHMin,

address to,

uint deadline
) external returns (uint amountToken, uint amountETH);
function removeLiquidity WithPermit(

address tokenA,

address tokenB,

uint liquidity,

uint amountAMin,
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uint amountBMin,
address to,
uint deadline,

bool approveMax, uint8 v, bytes32 r, bytes32 s

) external returns (uint amountA, uint amountB);

function removeLiquidityETHWithPermit(

address token,

uint liquidity,

uint amountTokenMin,
uint amountETHMin,
address to,

uint deadline,

bool approveMax, uint8 v, bytes32 r, bytes32 s

) external returns (uint amountToken, uint amountETH);

function swapExactTokensForTokens(

uint amountln,

uint amountOutMin,
address[] calldata path,
address to,

uint deadline

) external returns (uint[] memory amounts);

function swapTokensForExactTokens(

uint amountQOut,
uint-amountInMax,
address[] calldata path,
address to,

uint deadline

) external returns (uint[] memory amounts);

YouSwap & g
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function swapExactETHForTokens(uint amountOutMin, address[] calldata path, address to, uint

deadline)

external
payable

returns (uint[] memory amounts);
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function swapTokensForExactETH(uint amountOut, uint amountInMax, address[] calldata path,
address to, uint deadline)
external
returns (uint[] memory amounts);
function swapExactTokensForETH(uint amountln, uint amountOutMin, address[] calldata path,
address to, uint deadline)
external
returns (uint[] memory amounts);
function swapETHForExactTokens(uint amountOut, address[] calldata path, address to, uint
deadline)
external
payable

returns (uint[] memory amounts);

function quote(uint amountA, uint reserveA, uint.reserveB) external pure returns (uint amountB);

function getAmountOut(uint amountln, uint reserveln; uint reserveOut) external pure returns (uint
amountOut);

function getAmountIn(uint amountOut, uint reserveln; uint reserveOut) external pure returns (uint
amountln);

function getAmountsOut(uint amountln, address[] calldata path) external view returns (uint[]
memory amounts);

function getAmountsin(uint amountOut, address[] calldata path) external view returns (uint[]

memory amounts);

function removeLiquidityETHSupportingFeeOnTransferTokens(
address token,
uint liquidity,
uint amountTokenMin,
uint amountETHMin,
address to,
uint deadline
) external returns (uint amountETH);

function removeLiquidity ETHWithPermitSupportingFeeOnTransferTokens(
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address token,

uint liquidity,

uint amountTokenMin,

uint amountETHMin,

address to,

uint deadline,

bool approveMax, uint8 v, bytes32 r, bytes32 s

) external returns (uint amountETH);

function swapExactTokensForTokensSupportingFeeOnTransferTokens(
uint amountln,
uint amountOutMin,
address[] calldata path,
address to,
uint deadline
) external;
function swapExactETHForTokensSupportingFeeOnTransferTokens(
uint amountOutMin,
address[] calldata path,
address to,
uint deadline
) external payable;
function swapExactTokensForETHSupportingFeeOnTransferTokens(
uint-amountln,
uint. amountOutMin,
address[] calldata path,
address to,
uint deadline

) external;

// File: localhost/contracts/libraries/Ownable.sol
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//SPDX-License-Identifier: SimPL-2.0

pragma solidity "0.6.0;

/**
* @dev Contract module which provides a basic access control mechanism, where
* there is an account (an owner) that can be granted exclusive access to
* specific functions.
*
* By default, the owner account will be the one that deploys the contract. This
* can later be changed with {transferOwnership}.
*
* This module is used through inheritance. It will make available the modifier
* *onlyOwner", which can be applied to your functions to restrict their use to
* the owner.
*/

contract Ownable {
address private _owner;

event OwnershipTransferred(address indexed previousOwner, address indexed newOwner);

JE*

* @dev Initializes the contract setting the deployer as the initial owner.
*/
constructor () internal {
_owner = msg.sender;

emit OwnershipTransferred(address(0), msg.sender);

JE*

* @dev Returns the address of the current owner.
*/

function owner() public view returns (address) {
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return _owner,

/**
* @dev Throws if called by any account other than the owner.
*/

modifier onlyOwner() {

require(_owner == msg.sender, "YouSwap: CALLER IS NOT THE OWNER");

/**
* @dev Leaves the contract without owner. It will not be possible to call
* *onlyOwner" functions anymore. Can only be called by the current owner.
*
* NOTE: Renouncing ownership will leave the contract without an owner,
* thereby removing any functionality that is only available to the owner.
*/
function renounceOwnership() public virtual onlyOwner {
emit OwnershipTransferred(_owner, address(0));

_owner = address(0);

JE*

* @dev Transfers ownership of the contract to a new account (‘'newOwner").
* Can only be called by the current owner.
*/

function transferOwnership(address newOwner) public virtual onlyOwner {

require(newOwner 1= address(0),

NEW_OWNER IS THE _ZERO ADDRESS");

emit OwnershipTransferred(_owner, newOwner);

_owner = IICWOWI’IGI';
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/I File: localhost/contracts/libraries/TransferHelper.sol
/I SPDX-License-Identifier: GPL-3.0-or-later
pragma solidity >=0.6.0;

// helper methods for interacting with ERC20 tokens and sending ETH that do not consistently return
true/false
library TransferHelper {
function safe Approve(
address token,
address to,
uint256 value
) internal {
/1 bytesd(keccak256(bytes(‘approve(address,uint256))));

(bool success, bytes memory data). = token.call(abi.encodeWithSelector(0x095ea7b3, to,

value));
require(
success && (data.length == 0 || abi.decode(data, (bool))),
'"TransferHelper::safe Approve: approve failed'
);
}

function safeTransfer(
address token,
address to,
uint256 value
) internal {
/1 bytes4(keccak256(bytes('transfer(address,uint256)")));
(bool success, bytes memory data) = token.call(abi.encodeWithSelector(0xa9059cbb, to,

value));

require(
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success && (data.length == 0 || abi.decode(data, (bool))),

'"TransferHelper::safeTransfer: transfer failed'

function safeTransferFrom(
address token,
address from,
address to,
uint256 value
) internal {
/1 bytes4(keccak256(bytes('transferFrom(address,address,uint256)")));

(bool success, bytes memory data) = token.call(abi.encode WithSelector(0x23b872dd, from, to,

value));
require(
success && (data.length == 0 || abi.decode(data, (bool))),
'"TransferHelper::transferFrom: transferFrom failed'
)i
}

function safeTransferETH(address to, uint256 value) internal {
(bool success, ) = to.call {value: value} (new bytes(0));

require(success, 'TransferHelper::safeTransferETH: ETH transfer failed');

/I File: localhost/contracts/interfaces/I YouSwapFactory.sol

pragma solidity >=0.5.0;

interface I'YouSwapFactory {

event PairCreated(address indexed token0, address indexed token1, address pair, uint);

-75 -



S sniEglF YouSwap A & 218 TR

function feeTo() external view returns (address);

function feeToSetter() external view returns (address);

function getPair(address tokenA, address tokenB) external view returns (address pair);
function allPairs(uint) external view returns (address pair);

function allPairsLength() external view returns (uint);

function createPair(address tokenA, address tokenB) external returns (address pair);

function setFeeTo(address) external;

function setFeeToSetter(address) external;

function setFeeToRate(uint256) external;

function feeToRate() external view returns (uint256);
// File: localhost/contracts/YouSwapRouter.sol

pragma solidity =0.6.6;

contract YouSwapRouter is [YouSwapRouter, Ownable {

using SafeMath for uint;
address public immutable override factory;
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address public immutable override WETH,;

address public override swapMining;

modifier ensure(uint deadline) {

require(deadline >= block.timestamp, 'YouSwapRouter: EXPIRED');

constructor(address _factory, address  WETH) public {
factory = factory;

WETH = WETH;

receive() external payable {

assert(msg.sender == WETH); // only accept ETH via fallback from the WETH contract

function setSwapMining(address _swapMininng) public onlyOwner {

swapMining = swapMininng;

/1 *¥¥*% ADD LIQUIDITY ****
function addLiquidity(
address tokenA,
address tokenB,
uint amountADesired,
uint amountBDesired,
uint amountAMin,
uint amountBMin
) internal virtual returns (uint amountA, uint amountB) {
// create the pair if it doesn't exist yet
if (I'YouSwapFactory(factory).getPair(tokenA, tokenB) == address(0)) {

I'YouSwapFactory(factory).createPair(tokenA, tokenB);
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(uint reserveA, uint reserveB) = YouSwapLibrary.getReserves(factory, tokenA, tokenB);
if (reserveA == 0 && reserveB == 0) {
(amountA, amountB) = (amountADesired, amountBDesired);
} else {
uint amountBOptimal = YouSwapLibrary.quote(amountADesired, reserveA, reserveB);
if (amountBOptimal <= amountBDesired) {
require(amountBOptimal >= amountBMin, "YouSwapRouter:
INSUFFICIENT B_ AMOUNT");
(amountA, amountB) = (amountADesired, amountBOptimal);
} else {
uint amountAOptimal = YouSwapLibrary.quote(amountBDesired, reserveB,
reserveA);
assert(amountAOptimal <= amountADesired);
require(amountAOptimal >= amountAMin, "YouSwapRouter:
INSUFFICIENT A AMOUNT");

(amountA, amountB) = (amountAOptimal, amountBDesired);

H
}
}
function addLiquidity(
address tokenA,
address tokenB,

uint-amountADesired,
uint. amountBDesired,
uint amountAMin,
uint amountBMin,
address to,
uint deadline
) external virtual override ensure(deadline) returns (uint amountA, uint amountB, uint liquidity) {
(amountA, amountB) = addLiquidity(tokenA, tokenB, amountADesired, amountBDesired,
amountAMin, amountBMin);

address pair = YouSwapLibrary.pairFor(factory, tokenA, tokenB);
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TransferHelper.safeTransferFrom(tokenA, msg.sender, pair, amountA);
TransferHelper.safeTransferFrom(tokenB, msg.sender, pair, amountB);
liquidity = IYouSwapPair(pair).mint(to);
}
function addLiquidityETH(
address token,
uint amountTokenDesired,
uint amountTokenMin,
uint amountETHMin,
address to,
uint deadline
) external virtual override payable ensure(deadline) returns (uint amountToken, uint amountETH,
uint liquidity) {
(amountToken, amountETH) = addLiquidity(
token,
WETH,
amountTokenDesired,
msg.value,
amountTokenMin,
amountETHMin
)i
address pair = YouSwapLibrary.pairFor(factory, token, WETH);
TransferHelper.safeTransferFrom(token, msg.sender, pair, amountToken);
IWETH(WETH).deposit{value: amountETH}();
assert(IWETH(WETH).transfer(pair, amountETH));
liquidity = IYouSwapPair(pair).mint(to);
// refund dust eth, if any
if (msg.value > amountETH) TransferHelper.safeTransferETH(msg.sender, msg.value -

amountETH);

}

/[ *¥*¥*%* REMOVE LIQUIDITY *#**

function removeLiquidity(
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address tokenA,
address tokenB,
uint liquidity,
uint amountAMin,
uint amountBMin,
address to,
uint deadline
) public virtual override ensure(deadline) returns (uint amountA, uint amountB) {
address pair = YouSwapLibrary.pairFor(factory, tokenA, tokenB);
I'YouSwapPair(pair).transferFrom(msg.sender, pair, liquidity); // send liquidity to pair
(uint amount0, uint amount1) = I'YouSwapPair(pair).burn(to);
(address token0,) = YouSwapLibrary.sortTokens(tokenA, tokenB);
(amountA, amountB) = tokenA == token0 ? (amount(0, amountl) : (amountl, amount0);
require(amountA >= amountAMin, "YouSwapRouter: INSUFFICIENT A AMOUNT");
require(amountB >= amountBMin, 'YouSwapRouter: INSUFFICIENT B AMOUNT");
}
function removeLiquidityETH(
address token,
uint liquidity,
uint amountTokenMin,
uint amountETHM in,
address to,
uint deadline
) public virtual override ensure(deadline) returns (uint amountToken, uint amountETH) {
(amountToken, amountETH) = removeLiquidity(
token,
WETH,
liquidity,
amountTokenMin,
amountETHMin,
address(this),

deadline
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TransferHelper.safeTransfer(token, to, amountToken);
IWETH(WETH).withdraw(amountETH);

TransferHelper.safeTransferETH(to, amountETH);

}

function removeLiquidity WithPermit(
address tokenA,
address tokenB,
uint liquidity,

uint amountAMin,
uint amountBMin,
address to,
uint deadline,
bool approveMax, uint8 v, bytes32 r, bytes32 s
) external virtual override returns (uint amountA, uint-amountB) {
address pair = YouSwapLibrary.pairFor(factory, tokenA, tokenB);
uint value = approveMax ? uint(-1) : liquidity;
I'YouSwapPair(pair).permit(msg.sender, address(this), value, deadline, v, r, s);
(amountA, amountB) =° removeLiquidity(tokenA, tokenB, liquidity, amountAMin,
amountBMin, to, deadline);
}
function removeLiquidityETHWithPermit(
address token,
uint liquidity,
uint-amountTokenMin,
uint amountETHMin,
address to,
uint deadline,
bool approveMax, uint8 v, bytes32 r, bytes32 s
) external virtual override returns (uint amountToken, uint amountETH) {
address pair = YouSwapLibrary.pairFor(factory, token, WETH);
uint value = approveMax ? uint(-1) : liquidity;
I'YouSwapPair(pair).permit(msg.sender, address(this), value, deadline, v, r, s);

(amountToken, amountETH) = removeLiquidityETH(token, liquidity, amountTokenMin,
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amountETHMin, to, deadline);

}

/[ *¥*¥** REMOVE LIQUIDITY (supporting fee-on-transfer tokens) ****
function removeLiquidityETHSupportingFeeOnTransferTokens(
address token,
uint liquidity,
uint amountTokenMin,
uint amountETHMin,
address to,
uint deadline
) public virtual override ensure(deadline) returns (uint amountETH) {
(, amountETH) = removeLiquidity(
token,
WETH,
liquidity,
amountTokenMin,
amountETHMin,
address(this),
deadline
)i
TransferHelper.safeTransfer(token, to, IERC20(token).balanceOf(address(this)));
IWETH(WETH).withdraw(amountETH);
TransferHelper.safeTransferETH(to, amountETH);
}
function removeLiquidity ETHWithPermitSupportingFeeOnTransferTokens(
address token,
uint liquidity,
uint amountTokenMin,
uint amountETHMin,
address to,
uint deadline,

bool approveMax, uint8 v, bytes32 r, bytes32 s
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) external virtual override returns (uint amountETH) {
address pair = YouSwapLibrary.pairFor(factory, token, WETH);
uint value = approveMax ? uint(-1) : liquidity;
I'YouSwapPair(pair).permit(msg.sender, address(this), value, deadline, v, r, s);
amountETH = removeLiquidity ETHSupportingFeeOnTransferTokens(

token, liquidity, amountTokenMin, amountETHM in, to, deadline

// requires the initial amount to have already been sent to the first pair
function swap(uint[] memory amounts, address[] memory path, address to) internal virtual {
for (uint i; 1 < path.length - 1; i++) {
(address input, address output) = (path[i], path[i + 17);
(address token(,) = YouSwapLibrary.sortTokens(input, output);
uint amountOut = amounts[i + 1];
if (swapMining != address(0)) {
ISwapMining(swapMining).swap(msg.sender, input, output, amountOut);
H
(uint amountOOut, uint amountlOut) = input == token0 ? (uint(0), amountOut) :
(amountOut, uint(0));
address to = i < path.length - 2 ? YouSwapLibrary.pairFor(factory, output, path[i + 2]) :
_to;
IYouSwapPair(YouSwapLibrary.pairFor(factory, input, output)).swap(

amount0Out, amount10ut, to, new bytes(0)

}

function swapExactTokensForTokens(
uint amountln,
uint amountOutMin,
address[] calldata path,

address to,
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uint deadline
) external virtual override ensure(deadline) returns (uint[] memory amounts) {
amounts = YouSwapLibrary.getAmountsOut(factory, amountln, path);
require(amounts[amounts.length - 1] >=  amountOutMin,  "YouSwapRouter:
INSUFFICIENT OUTPUT AMOUNT);
TransferHelper.safeTransferFrom(
path[0], msg.sender, YouSwapLibrary.pairFor(factory, path[0], path[1]), amounts[0]
)i
_swap(amounts, path, to);
}
function swapTokensForExactTokens(
uint amountOut,
uint amountInMax,
address[] calldata path,
address to,
uint deadline
) external virtual override ensure(deadline) returns (uint[ | memory amounts) {
amounts = YouSwapLibrary.getAmountsIn(factory, amountOut, path);
require(amounts[0] <= amountInMax; ' YouSwapRouter: EXCESSIVE INPUT AMOUNT");
TransferHelper.safeTransferFrom(
path[0], msg.sender, YouSwapLibrary.pairFor(factory, path[0], path[1]), amounts[0]
);
_swap(amounts, path, to);
§

function swapExactETHForTokens(uint amountOutMin, address[] calldata path, address to, uint
deadline)

external

virtual

override

payable

ensure(deadline)

returns (uint[] memory amounts)
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require(path[0] == WETH, "YouSwapRouter: INVALID PATH");
amounts = YouSwapLibrary.getAmountsOut(factory, msg.value, path);
require(amounts[amounts.length - 1] >=  amountOutMin,  "YouSwapRouter:
INSUFFICIENT OUTPUT AMOUNT);
IWETH(WETH).deposit{value: amounts[0]}();
assert(IWETH(WETH).transfer(YouSwapLibrary.pairFor(factory, path[0], path[1]),
amounts[0]));
_swap(amounts, path, to);
}
function swapTokensForExactETH(uint amountOut, uint amountInMax, address[] calldata path,
address to, uint deadline)
external
virtual
override
ensure(deadline)

returns (uint[] memory amounts)

require(path[path.length - 17== WETH, 'YouSwapRouter: INVALID PATH");
amounts = YouSwapLibrary.getAmountsIn(factory, amountOut, path);
require(amounts[0] <= amountInMax, 'YouSwapRouter: EXCESSIVE INPUT AMOUNT");
TransferHelper.safeTransferFrom(
path[0], msg.sender, YouSwapLibrary.pairFor(factory, path[0], path[1]), amounts[0]
);
_swap(amounts, path, address(this));
IWETH(WETH).withdraw(amounts[amounts.length - 1]);
TransferHelper.safeTransferETH(to, amounts[amounts.length - 1]);
}
function swapExactTokensForETH(uint amountln, uint amountOutMin, address[] calldata path,
address to, uint deadline)
external
virtual
override

ensure(deadline)
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returns (uint[] memory amounts)

require(path[path.length - 1] == WETH, 'YouSwapRouter: INVALID PATH');

amounts = YouSwapLibrary.getAmountsOut(factory, amountln, path);

require(amounts[amounts.length - 1] >=  amountOutMin,  "YouSwapRouter:
INSUFFICIENT OUTPUT AMOUNT);

TransferHelper.safeTransferFrom(

path[0], msg.sender, YouSwapLibrary.pairFor(factory, path[0], path[1]), amounts[0]

)i

_swap(amounts, path, address(this));

IWETH(WETH).withdraw(amounts[amounts.length - 1]);

TransferHelper.safeTransferETH(to, amounts[amounts.length - 1]);

}
function swapETHForExactTokens(uint amountOut;address[] calldata path, address to, uint
deadline)
external
virtual
override
payable
ensure(deadline)

returns (uint[] memory amounts)

require(path[0] == WETH, 'YouSwapRouter: INVALID PATH');

amounts = YouSwapLibrary.getAmountsIn(factory, amountOut, path);

require(amounts[0] <= msg.value, 'YouSwapRouter: EXCESSIVE INPUT AMOUNT");

IWETH(WETH).deposit{value: amounts[0]}();

assert(IWETH(WETH).transfer(YouSwapLibrary.pairFor(factory, path[0], path[1]),
amounts[0]));

_swap(amounts, path, to);

// refund dust eth, if any

if (msg.value > amounts[0]) TransferHelper.safeTransferETH(msg.sender, msg.value -

amounts[0]);

}
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/] *¥%%* SWAP (supporting fee-on-transfer tokens) ****
// requires the initial amount to have already been sent to the first pair
function _swapSupportingFeeOnTransferTokens(address[] memory path, address to) internal
virtual {
for (uint i; 1 < path.length - 1; i++) {
(address input, address output) = (path[i], path[i + 1]);
(address token0,) = YouSwapLibrary.sortTokens(input, output);
I'YouSwapPair pair = [YouSwapPair(YouSwapLibrary.pairFor(factory, input, output));
uint amountInput;
uint amountOutput;
{// scope to avoid stack too deep errors
(uint reserve0, uint reservel,) = pair.getReserves();
(uint reservelnput, uint reserveOutput) =-input == token0O ?. (reserve0, reservel) :
(reservel, reserve0);
amountInput = IERC20(input).balanceOf(address(pair)).sub(reservelnput);
amountOutput =  YouSwapLibrary.getAmountOut(amountInput, reservelnput,
reserveQutput);
H
if (swapMining != address(0)) {
ISwapMining(swapMining).swap(msg.sender, input, output, amountOutput);
H
(uint amount0Out, uint amount1Out) = input == token0 ? (uint(0), amountOutput) :
(amountOutput, uint(0));
address to = i< path.length - 2 ? YouSwapLibrary.pairFor(factory, output, path[i + 2]) :
_to;

pair.swap(amount0Out, amount1Out, to, new bytes(0));

}

function swapExactTokensForTokensSupportingFeeOnTransferTokens(
uint amountln,
uint amountOutMin,

address[] calldata path,
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address to,
uint deadline
) external virtual override ensure(deadline) {
TransferHelper.safeTransferFrom(
path[0], msg.sender, YouSwapLibrary.pairFor(factory, path[0], path[1]), amountIn
)i
uint balanceBefore = IERC20(path[path.length - 1]).balanceOf{(to);
_swapSupportingFeeOnTransferTokens(path, to);
require(
IERC20(path[path.length - 1]).balanceOf(to).sub(balanceBefore) >= amountOutMin,

"YouSwapRouter: INSUFFICIENT OUTPUT AMOUNT!

}

function swapExactETHForTokensSupportingFeeOnTransfer Tokens(
uint amountOutMin,
address[] calldata path,
address to,

uint deadline

external
virtual

override
payable

ensure(deadline)

require(path[0] == WETH, "YouSwapRouter: INVALID PATH");

uint amountIn = msg.value;

IWETH(WETH).deposit{value: amountln}();

assert(IWETH(WETH).transfer(YouSwapLibrary.pairFor(factory, path[0], path[1]),
amountln));

uint balanceBefore = IERC20(path[path.length - 1]).balanceOf{(to);

_swapSupportingFeeOnTransferTokens(path, to);

require(
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IERC20(path[path.length - 1]).balanceOf(to).sub(balanceBefore) >= amountOutMin,

"YouSwapRouter: INSUFFICIENT OUTPUT AMOUNT

}
function swapExactTokensForETHSupportingFeeOnTransferTokens(

uint amountln,

uint amountOutMin,
address[] calldata path,
address to,

uint deadline

)
external
virtual
override
ensure(deadline)
{

require(path[path.length - 1] == WETH, 'YouSwapRouter: INVALID PATH');
TransferHelper.safeTransferFrom(
path[0], msg.sender, YouSwapLibrary.pairFor(factory, path[0], path[1]), amountIn

)i

_swapSupportingFeeOnTransferTokens(path, address(this));

uint amountOut = [ERC20(WETH).balanceOf(address(this));

require(amountOut >= amountOutMin, "YouSwapRouter:
INSUFFICIENT _OUTPUT AMOUNT");

IWETH(WETH).withdraw(amountOut);

TransferHelper.safeTransferETH(to, amountOut);

// *¥%#%* L IBRARY FUNCTIONS ****
function quote(uint amountA, uint reserveA, uint reserveB) public pure virtual override returns (uint
amountB) {

return YouSwapLibrary.quote(amountA, reserveA, reserveB);
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function getAmountOut(uint amountln, uint reserveln, uint reserveOut)

public
pure
virtual
override

returns (uint amountOut)

return YouSwapLibrary.getAmountOut(amountln, reserveln, reserveOut);

function getAmountIn(uint amountOut, uint reserveln, uint reserveOut)

public
pure
virtual
override

returns (uint amountIn)

return YouSwapLibrary.getAmountIn(amountOut, reserveln, reserveOut);

function getAmountsOut(uint amountln, address[] memory path)

public
view
virtual
override

returns (uint[] memory amounts)

return YouSwapLibrary.getAmountsOut(factory, amountln, path);

function getAmountsIn(uint amountOut, address[] memory path)

public
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view
virtual
override

returns (uint[] memory amounts)

return YouSwapLibrary.getAmountsIn(factory, amountOut, path);

YouSwap % fiE £ £ # 11K

-9] -

¢
N




S smigslF YouSwap B & 20 H HHi i

6. MiE B: ZERETERIRE

%0
WRTR
SRR

KRR

EEEE 1w FR b

i VLR AR

e LG AT A A BT P B BRI, e BEIE SR AN (EIH 1)
KB TR REXE RAZ 2 BT B RAR T A BE (IR . REE Al 20K 5%
K TRX s AT A AT S5

REIE A T A LR E R AT, G o R B U5 R 2 SR call
TEN T2 bR s 1) 47 1 SR 55

REIE AT B A TIEIEH TR, 0. RS EHAE R % TRX S
HIFEZE AR ST DX energy #B/ T SR LR 55 IR -

i B AE Mk A RE Ak A A v USRI AR T & L4 A e A SO
i RIS s ARG B8 B U IR S R L A REIE A ELRE BE R R 2 A
RN R

HE VA A A (R Al 2 e e A BRI, U0 R 2K E TRX sfU
7 Rl ORI HY IR A A BB s Ui Je ik BRI AR R
i AR e energy fith A (195 55 MG HRASUXU <5 o

-9 -



S sniEglF YouSwap % it A 21 T

7. iR C: BREEAREFITTREN
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